(Equation 1)
WHERE:

M = Market charge

b = Increased annual borrowing cost (i.e., principal multiplied by
the excess of the current borrowing rate for the period from
redemption to original maturity of note or bond over the rate
for the security)

r = Number of days from redemption date to next interest payment
date

5 = Number of days in current semi-annual period

i= Treasury borrowing rate over the remaining term to maturity,
based on semi-annual interest payments and expressed in
decimals

n = Number of remaining full semi-annual periods from the
redemption date to the original maturity date, except that if
the redemption date is on an interest payment date, n will be
one less than the number of full semi-annual periods remaining
to maturity

vh o= 1/(1 + i/2)™ = present value of 1 due at the end of n periods
(Equation 2)

ap = (1 - v /(i/2) = v + v + v°’+ ... + v® = present value of 1 per

period for n periods (Equation 3)




